
 
Question 11 

   November 11, 2024 
 

 
 

 
Find the value of the median given the set of data: {2,2,8,7,2,2,3} 
 
A.   3.71  B.   7                C.   3               D.   3.52               E.   2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Given right ∆𝐴𝐵𝐶 with ∠𝐶 = 90°, ∠𝐴 = 50°, 𝐴𝐶 = 5, 𝐵𝐶 = 𝑥, and 𝐴𝐵 = 𝑦, which equation expresses a 
correct trigonometric ratio for the triangle?  

A.  cos 50° =
𝑦

5
  B.  sin 50° =

𝑥

𝑦
  C.  tan 40° =

𝑥

5
 D.  cos 40° =

5

𝑦
 E.  tan 50° =

5

𝑥
 

 
 

Solution: 
 

                                        𝑠𝑖𝑛 5 0∘ =
opposite leg

hypotenuse
=

𝑥

𝑦
 

 
 
 

 
Each week, we’ll reveal the answer to the previous week’s question! 

 
 
 

Visit us at WWW.NCEMPT.ORG 
for additional resources or to register to test for FREE! 
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